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	QUESTION
	SC

	Let A be an integer array containing the values (3,5,4,2,6).

Which value is returned by the method 'addRec' (see below) if it is called with 

int result = addRec(A,2) ?

public int addRec(int[]A, int i){

    if (i == A.length-1)

        return( A[i]);

    else

        return( A[i] + addRec(A,i+1));

}

Answer: result = ______


	 3


	Write a short RECURSIVE code that computes the value of 

f(n) = 1+ 2 + 3 + ... + n


	3

	Name 2 (two !) more possibilities to program the equation above. 

Which one of all 3 is the fastest, which one the slowest ?


	2

	Draw the first 3 stages of creating a Koch Snowlake, starting with a single line (= only a single side of the triangle)

o-------------o  =>                               =>                               =>

Drawing the snowflake, did you think iteratively or recursively ?
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